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	2018 March Latest Cisco 300-075 Exam Dumps with PDF and VCE Free Updated Today! Following are some new 300-075 Real

Exam Questions:1.|2018 Latest 300-075 Exam Dumps (PDF & VCE) 391Q&As Download:

https://www.braindump2go.com/300-075.html2.|2018 Latest 300-075 Exam Questions & Answers Download:

https://drive.google.com/drive/folders/0B75b5xYLjSSNOXRpM1hydUpDU3M?usp=sharingQUESTION 126Which code snippet is

required for SAF to be initialized?A.    Service FamilyB.    External-ClientC.    router eigrpD.    topology baseAnswer:

CQUESTION 127When using SAF, how do you prevent multiple nodes in a cluster from showing up in the Show Advance section

of the SAF Forwarder configuration?A.    Configure the publisher node only in the SAF Forwarder configuration page.B.    Append

an @ symbol at the end of the client label value in the SAF Forwarder configuration page.C.    Configure the correct node in the

EIGRP configuration of the gateway router that is associated with the Cisco Unified Communications Manager node.D.    Configure

the SAF Security Profile Configuration to support only a single node.Answer: BQUESTION 128Which statement about the SAF

Client Control is correct?A.    The SAF Client Control is a configurable inherent component of Cisco Unified Communications

Manager.B.    The SAF Client Control is a non-configurable inherent component of Cisco Unified Communications Manager.C.   

The SAF Client Control is a non-configurable inherent component of the Cisco IOS Routers.D.    The SAF Client Control is a

configurable inherent component of the Cisco IOS Routers.Answer: BQUESTION 129If you want to delete a SAF-enabled trunk

from Cisco Unified Communications Manager Administration, what must you do first?A.    Disassociate the trunk from the CCD

advertising service or CCD requesting service.B.    Delete the trunk from the CCD requesting service node.C.    Place the Cisco

Unified Communications Manager node in standby mode.D.    Redirect CCD advertising and requesting services to another Cisco

Unified Communications Manager.Answer: AQUESTION 130Which functionality does ILS use to link all hub clusters in an ILS

network?A.    FullmeshB.    AutomeshC.    ILS updatesD.    multicastAnswer: BQUESTION 131Which option is known as the

location attribute that the global dialplan replication uses to advertise its dial plan information?A.    location controllerB.    route

patternC.    route stringD.    URIAnswer: CQUESTION 132Refer to the exhibit. If an IP phone in San Jose roams to New York,

which two IP phone settings will be modified by Device Mobility so that the phone can place and receive calls in New York?

(Choose two.) A.    The physical locations are not different, so the configuration of the phone is not modified.B.    The physical

locations are different, so the roaming-sensitive parameters of the roaming device pool are applied.C.    The device mobility groups

are the same, so the Device Mobility-related settings are applied in addition to the roaming-sensitive parameters.D.    The Device

Mobility information is associated with one or more device pools other than the home device pool of the phone, so one of the

associated device pools is chosen based on a round-robin load-sharing algorithm.E.    The Device Mobility information is associated

with the home device pool of the phone, so the phone is considered to be in its home location. Device Mobility will reconfigure the

roaming- sensitive settings of the phone.Answer: BCQUESTION 133What happens when a user logs in using the Cisco Extension

Mobility Service on a device for which the user has no user device profile?A.    The Extension Mobility log in fails.B.    The device

takes on the default device profile for its type.C.    The user can log in but does not have access to any features, soft key templates,

or button templates.D.    The device uses the first device profile assigned to the user in Cisco Unified Communications

Manager.Answer: BQUESTION 134Which three steps are required when configuring extension mobility in Cisco Unified

Communications Manager? (Choose three.)A.    Create the extension mobility IP Phone Service.B.    Check the Home Cluster

checkbox on the End User Configuration page.C.    Check the Enable Extension Mobility checkbox on the Directory Number

Configuration page.D.    Unsubscribe all other services from the Cisco IP Phone.E.    Create a user Device Profile.F.    Subscribe the

extension mobility IP Phone Service to the user Device Profile.Answer: AEFQUESTION 135How many Cisco Unified Mobility

destinations can be configured per user?A.    1B.    10C.    4D.    6Answer: BQUESTION 136When configuring Cisco Unified

Mobility, which parameter defines the access control for a call that reaches out to a remote destination?A.    Calling Party

Transformation Calling Search Space under Remote Destination Profile InformationB.    User Local under Remote Destination

Profile InformationC.    Rerouting Calling Search Space under Remote Destination Profile InformationD.    Rerouting Calling

Search Space under Remote Destination informationE.    Calling Search Space under Phone ConfigurationAnswer: C
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